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Define financial statement and discuss objectives of corporate financial

Give the format of vertical Balance Sheet as per Revised Schedule 6 of the

Companies Act.

(b) Answer in brief : (Any two)
(1) Users of accounting information.

(2) Explain cash and cash equivalents.

(3) Explain the assumption of going concern.

(c) Answer the following : (Any two)

(1) Name the methods of valuation of Inventories as per AS-2.
(2) Meaning of Depreciable Assets as pet AS-6.

(3) Give the full form of IFRS and ICAL

2. Complete the following annual financial statements of Niyati Ltd. on the basis of

following information :

Profit and Loss Account for the year ended on 31* March, 2014

Particulars ] Particulars 3
To Opening Stock ? By Net Sales
To Net Purchases ? By Closing Stock ?
To Gross Profit 1,00,000
? ?
To Administrative & By Gross Profit ?
selling expenses ?
To debenture interest 1,00,000
To Income-tax ?
To Net Profit ?
? ?

N35-101

14

P.T.O.



Balance Sheet as on 31* March, 2014

Liabilities 4 Assets 4
Share Capital ? Fixed Assets ?
Reserves & Surplus ? Current Assets
(Net profit)
10% Debentures ? Cash ?
Sundry creditors ? Stock ?
Debtors ? ?
? ?
Gross Profit Ratio 25%
Stock Turnover Rate 6 times
Average debt collection period 60 days
(Assume 300 days in a year)
Net Working Capital % 90,000
Current Ratio 2.5
Net Profit to Sales 10%
Reserves and surplus to share capital 1:5
Rate of Income-tax 50%

Opening Stock is ¥ 40,000 more than Closing Stock.

OR
The Balance Sheet of Palak Ltd. as on 31-3-2013 and 31-3-2014 are given below :
Liabilities 31-3-13 | 31-3-14 Assets 31-3-13 | 31-3-14
4 (4 3 4

Equity shares of | 2,00,000 | 4,00,000 |Goodwill 40,000 25,000
% 10 each Land & Building 2,00,000 | 5,00,000
General Reserve 1,00,000 |. 1,50,000 |Plant & Machinery 1,50,000 | 3,00,000
Profit & Loss A/c | 1,20,000 | 2,00,000 |Investments 60,000 | 1,50,000
Capital Reserve = 25,000 |Stock 80,000 | 1,20,000
Security. Premium | 10,000 50,000 (Debtors 90,000 | 1,00,000
10% Debentures | 1,00,000 50,000 (Bills Receivable 60,000 45,000
Creditors 60,000 70,000 |Cash & Bank 50,000 80,000
Bills payable 20,000 25,000 |Preliminary expenses | 20,000 10,000
Provision for 1,20,000 | 3,00,000

taxation

Proposed dividend| 20,000 60,000

7,50,000 | 13,30,000 7,50,000 | 13,30,000
N35-101 10




Additional Information :

(1) During the year the company has converted its 500 debentures of ¥ 100 each into
1000 equity shares of ¥ 10 each.

(2) During the year company has distributed one bonus shares for every two equity
shares from general reserve. 31-3-2013 is the record date for the purpose of
issuing bonus shares.

(3) Land and building having original cost of ¥ 1,00,000 and written down value of
% 75,000 have been sold for ¥1,25,000. Out of the profit on sale the capital profit
has been transferred to capital reserve and the revenue profit has been credited to
Profit & Loss Account.

(4) Depreciation written off during the year :

On Land & Building 375,000
On Plant & Machinery 3 30,000

(5) Investment of I 40,000 were sold at such price so as to realize 20% profit on
selling price.

(6) Paid ¥ 1,00,000 as tax for the last year and also paid the proposed dividend of the
last year.

From the above mentioned information prepare cash flow statement as per
Accounting Standard — 3. All calculations are to be considered as part of the

answer.

3. (a) From the following information of Zamkudi Ltd. calculate the “Gearing

Adjustment” under current cost accounting method. : 7
1-4-2013 | 31-3-2014
4 4

Share capital 12,00,000 12,00,000
Reserves & Surplus 4,00,000 5,00,000
10% Debentures 4,00,000 3,00,000
Bank Loan 1,00,000 1,50,000
Provision for Taxation 80,000 90,000
Cash and Bank balance 15,000 5,000

N35-101 11 P.T.O.



(a)

(b)

(©)

N35-101

Current Cost Adjustments :
Cost of Sales Adjustment 3 1,00,000
Depreciation Adjustment ¥ 60,000

Monetary Working Capital Adjustment I _40.000
T2,00,000

OR
Explain the difference between value added statement and Profit and Loss
Account.
Attempt any two :

(1) From the following information of Jalsa Ltd. calculate the Cost of Sales

Adjustment (COSA):

Stock as on 1-4-2013 T 80,000
Purchases during the year ¥ 5,00,000
Stock as on 31-3-2014 3 75,000

Price Index

1-4-2013 200
Average 250
31-3-2014 300

(2) Give the meaning of Social Accounting.

(3) Give the meaning of Environmental Accounting.

Attempt any two :

(1) A company purchased investment of ¥ 15,00,000 in the beginning of the
financial year when the price index was 250. At the end of the year, the
index rose 300 and the market value of investment was T 16,50,000.

Find out Profit or Loss on investment as per CPP Method.

(2) A company had purchased a machine on 1-4-2009 at a cost of ¥ 4,00,000
and expected life of machine was estimated 10 years. There is no scrap
value of machine. Replacement cost of machine on 1-4-2012 was
% 6,00,000 and as on 31-3-2013 was X 7,00,000.

Calculate the Depreciation Adjustment.

(3) Explain any two advantages of Human Resources Accounting.

12



4.  The following information is available from the books of Gopi Ltd. : 14

Cost of sales % 6,00,000
Rate of Gross profit on sales 25%
Profit —volume ratio 40%

Calculate the following :

)
2)
3)
“4)
®)
(6)
(7

®)

(a)

N35-101

Fixed expenses.

Break Even Point.

Sales to earn a profit I 60,000.

Sales to earn a loss ¥ 60,000.

Profit when sales is ¥ 10,00,000.

Margin of safety when profit is ¥ 1,80,000.

If the selling price is increased by 20%, variable‘costs increased by 25% and
fixed costs are increased by 50%. Find out Break Even point, profit volume ratio
and required sales to get 50% more profit.than the present profit.

What percentage of break even point will'go higher if selling price is decreased

by 20% and variable costs are increased by 20% ?

OR
The following information provided by ‘Bebo Ltd.” : 7
Production Capacity
Particulars 60% 80%
4 3

Direct Materials 30,000 40,000
Direct Wages 12,000 16,000
Factory Overheads 11,000 13,000
Selling Overheads 19,000 22,000
Administrative Overheads 50,000 50,000

Prepare Flexible Budget at 50% and 75% level of capacity.

13 P.T.O.



(b) Answer the following : (Any two)
(1) Advantages of zero Base Budgeting.
(2) Concept of Relevant Costs.
(3) Concept of Opportunity Cost.

(4) Limitations of Budgeting Control.

5. Select appropriate alternative :
(1) Accounting for Amalgamation is dealt with by
(a) AS-14 (b) AS-10
(© AS9 (d) AS-13
(2) AS-6 Depreciation Accounting does not apply to
(a) Building (b) Furniture
(c) Goodwill (d) Machinery
(3) Full form of ASB
(a) Accounting Standards Board
(b) Accounting Security Board
(¢) Accounting Seryice Board
(d) None of the above
(4) The excess of current assets over current debts is called
(a) Net liability (b)  Working capital
(c) Shareholders fund (d) Net Fixed Assets
(5) Issueof Bonus shares from general reserve is a
(a) Operating Activity (b) Financial Activity
(¢) Inyesting Activity (d) None of the above
(6)« Cash receipts from disposal of plant and machinery is
(a) an Investing Activity (b) aFinancing Activity

(c) an Operating Activity (d) None of the above

N35-101 14
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(7

®)

€)

(10)

(11)
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If opening stock is I 20,000 less than the closing stock, purchase is ¥ 3,20,000,
closing stock is ¥ 1,00,000 and sales is ¥ 4,00,000, then gross profit ratio will be

(@) 33%1% (b) 25%
(© 20% (d) None of the above

Which of the following is monetary working capital adjustment, if opéning
monetary working capital ¥ 1,50,000, closing monetary working capital I 3,00,000,

opening price index 200, closing price index 240 and average price index 220.?
(a) < 1,50,000 (b) < 1,10,000
(c) 2,60,000 (d) 40,000

Cost of Sales Adjustment (COSA) calculated under Current Cost Accounting

Method is the difference between

(a) Current Cost Accounting figure of closing stock and historical cost

Accounting figure of Opening Stock.

(b) Current Cost Accounting figure of Opening Stock and Historical Cost

Accounting figure of Closing Stock.

(c) Current Cost Accounting Cost of Sales and Historical Cost Accounting of

Cost of sales.
(d) None of the above.

If P.V. ratio.is 40%, Margin of safety is 30% and sales is ¥ 10,00,000, amount of

fixed cost will be
(a) T4,00,000 (b) < 2,80,000
(¢) X6,00,000 (d 7,00,000

If thefixed expenses are I 2,40,000, variable expenses per unit are I 14 and break

even point is 15,000 units what will be the selling price per unit
(a T30 (b)y 16

(c) %46 (d) None of the above
15 P.T.O.



(12) Which of the following formula is false to find out the profit ?
(a) Profit = Contribution — Fixed Cost
(b) Profit = Sales — Total Cost
(c) Profit = Margin of Safety x P.V. Ratio
(d) Profit = Sales — Variable Cost
(13) Audit of Human resources accounts is compulsory for
(a) Sole proprietorship (b) Partnership firm
(c) Company (d) None of the above

(14) Selling price per unit ¥ 10, variable cost is ¥ 6 and total fixed cost is I 30,000.

Determine units required to be sold to earn profit T 2 per unit.
(a) 15000 units (b) 5000 units

(¢) 3750 units (d) 3000 units
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